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LIMITS AND DERIVATIVES

2]’ z)?

1. Let (hm)xF? = Icmd(hm)mﬁ? = m,
where [.| denotes greatest integer. Then [ exists

but m does not m exists but [ does not | hl and

m exist (d) neither In or m exists
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o Watch Video Solution

2. Which of the following is/are true? (a)

2+ 2)°4 + z)°

lim e =1 (b)
T — 00 (2 . CL‘)

) 1 — cos® 3

lim - = — (c)
z—0 X SINI COST 2

i In(1+ 2z) — 2In(1 + z) _ 4 ()

z—0 x>
1. cot 1 (vz +1-+x)
im

T — 00 secl( 2m—|—12> —1
(z—1)

° Watch Video Solution
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3. If f(z) = 2° + 22> 4+ 3z + 4 and g(z) is the
1
inverse of f(z) then g’ (4) is equal to- 1 (b) 0 (c)

1d4
= (d)

o Watch Video Solution

4, If (lim )x_>oo(,/pm2—|—qa:—'rw) = 2, then

q=4rb.q=2rcq=rd.q = 6r

o Watch Video Solution
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) 1—cos’z . 1 3
5(lim) — is equal to 3 b. — c.— d.

0 x£SINT CoS T 2 2
3
2
° Watch Video Solution
In(1 + 2z) — 2In(1 + x
6. (lim ) — ( ) ( ) is equal to
z 0 a’;2
3b.1c—1d.0

° Watch Video Solution

. V1+ zsinz — y/cos2z \ .
7. (lim ) - > is equal
z0 tan®(z /2)
1
to—-b.6c3d.2

6
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° Watch Video Solution

(1+a®) + 8e+
8 If (lim) - — =2, where
014+ (24 b+ b2)er

a,b € R, then the possible ordered pair (a,b) is

(2, =2)®) (1, -2) (L) D (-1,1)

o Watch Video Solution

2
9. If lim T+ 3T+ exists then K (a)k = 2
z—oo 4x + 1+ k

b))k <2(c)k>2(d)k > 2

° Watch Video Solution



https://dl.doubtnut.com/l/_XTAs8xOFlQ0s
https://dl.doubtnut.com/l/_Xm1w1pCO8vZh
https://dl.doubtnut.com/l/_zf2HhuZFDTEy

10. lim

2 () COS(;) (COS<%) - Sin(ﬁ))

° Watch Video Solution

1.

a cos r — cos bx

if f(z) = " , # 0 and f(0) = 4,

Is continuous at x=0, then the ordered pair (a,b) is

o Watch Video Solution
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1 2n

12. The value of lim —. Z r
n—00 N — /,n2 + 7“2
to

is equal

° Watch Video Solution

3
B lim () [5] = Znap+ g
4 q

T — 00

o Watch Video Solution
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